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	Reason for change:
	After the UE sends the STATUS report at step 9, t-StatusProhibit timer (300ms) will start. The UE will send the next STATUS report at the expiry of this timer. t-Reassembly, which was started at UE when it received PDU with SN=X+5, would however expire 50 ms earlier than the expiry of t-StatusProhibit timer. At this point, the value of Rx_Highest_Status is X+7. So when the t-StatusProhibit expires, the ACK_SN will be equal to Rx_Highest_Status which is X+7 at this point of time. Hence, the Status Report will have ACK_SN as X+7, and not X+10. There will be another STATUS Report sent by the UE when t-StatusProhibit expires again 300ms later, and this report will have NACK_SN=X+3, NACK_SN=X+7, ACK_SN=X+10. So at step 11, two STATUS reports should be handled.

Ul grant shall allow UE to send first uplink data with MAC BSR (2 Bytes) .So the calculation shall be as follows:

TBS = RLC SDU data (99 octets) + RLC header (3 octets) + MAC BSR (2 octets) + MAC PDU subheader (2 octets) = 99 + 3 + 2 + 2 = 106 octets = 848 bits => TBS = 848 bits

So RLC SDU Size shall decrease from 101 octets to 99 octets to make it right with TBS 848bits.
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7.1.2.3.8.3.2
Test procedure sequence

Table 7.1.2.3.8.3.2-1: Main behaviour

	St
	Procedure
	Message Sequence
	TP
	Verdict

	
	
	U - S
	Message/PDU/SDU
	
	

	1-29
	Same expected sequence as in Table 7.1.2.3.8.3.2-2 with (X=0, t-Reassembly = ms150, t-StatusProhibit = ms300, t-PollRetransmit=ms400) Note 1.
	-
	-
	1,2,3
	-

	30
	The SS reconfigures RLC in the UE and sets:

- t-Reassembly to ms200,

- t-StatusProhibit to ms400,

- t-PollRetransmit to ms500.

(Note 1)
	-
	-
	-
	-

	31-59
	Same expected sequence as in Table 7.1.2.3.8.3.2-2 with (X=11, t-Reassembly = ms200, t-StatusProhibit = ms400, t-PollRetransmit=ms500 ).
	-
	-
	1,2,3
	-

	Note 1:
The RRC Reconfiguration procedure is performed.


Table 7.1.2.3.8.3.2-2: Behaviour Sequence (X, t-Reassembly, t-StatusProhibit,t-PollRetransmit) 
	St
	Procedure
	Message Sequence
	TP
	Verdict

	
	
	U - S
	Message/PDU/SDU
	
	

	1
	The SS ignores scheduling requests and does not allocate any uplink grant.
	-
	-
	-
	-

	2
	The SS transmits 4 AMD PDUs with P=0 and SN=X, X+1, X+2 and X+4.
The SS record time TA when AMD PDU#5 (with SN=X+4) is sent. A time spacing of 20 ms is applied.
	<--
	AMD PDU#1 (SN=X, P=0)

AMD PDU#2 (SN=X+1, P=0)

AMD PDU#3 (SN=X+2, P=0)

AMD PDU#5 (SN=X+4, P=0)
	-
	-

	3
	The SS waits for 70 ms after the transmission of the first AMD PDU to ensure UE RLC has all the required SDUs available and then assigns 3 UL grants of size 848 bits with a time spacing of 20 ms. (Note 1)
	<--
	(UL grants, 848 bits)
	-
	-

	4 
	The UE transmits RLC SDU#1.
	-->
	(RLC SDU#1)
	-
	-

	5
	The UE transmits RLC SDU#2.
	-->
	(RLC SDU#2)
	-
	-

	6
	The UE transmits RLC SDU#3.
	-->
	(RLC SDU#3)
	-
	-

	7
	The SS transmits a STATUS PDU.
	<--
	STATUS PDU
	-
	-

	8
	The SS starts the UL default grant transmission.
	-
	-
	-
	-

	9
	Check 1: Does the UE transmit a STATUS PDU with NACK_SN=X+3 and ACK_SN=X+5? Record time TB.

Check 2: Is (TB  – TA ) = t-Reassembly?
	-->
	STATUS PDU
	2
	P

	10
	100 ms after the Status Report received at Step 9, the SS sends 4 AMD PDUs with P=0 and SN=X+5, X+6, X+8 and X+9. A time spacing of 20 ms is applied.
	<--
	AMD PDU#6 (SN=X+5, P=0)

AMD PDU#7 (SN=X+6, P=0)

AMD PDU#9 (SN=X+8, P=0)

AMD PDU#10 (SN=X+9, P=0)
	-
	-

	11
	Check 1: Does the UE transmit two Status Reports, the first one with NACK_SN=X+3, ACK_SN=X+7 and the second with NACK_SN=X+3, NACK_SN=X+7 and ACK_SN=X+10?

Record time TCa and TCbTC
Check 2a: (TCa – TB) = t-StatusProhibit?

Check 2b: (TCb – TCa) = t-StatusProhibit?
Check 2: (TC – TB) = t-StatusProhibit?
	-->
	STATUS PDU
	3
	P

	12
	The SS ignores scheduling requests and does not allocate any uplink grant.
	-
	-
	-
	-

	13
	After 300 ms the SS transmits 3 AMD PDUs with SN=X+3, X+7 and X+9. The SS sets the P field of all the AMD PDUs to 0 except for that of the AMD PDU with SN=X+9. A time spacing of 20 ms is applied.
	<--
	AMD PDU#4 (SN=X+3, P=0)

AMD PDU#8 (SN=X+7, P=0)

AMD PDU#10 (SN=X+9, P=1)
	-
	-

	14
	The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant of size 80 bits (UL Grant Allocation type 3). (Note 2)
	<--
	(UL grant, 80 bits)
	-
	-

	15
	The UE transmits a Status Report with no NACK_SN and ACK_SN=X+10.
	-->
	STATUS PDU
	-
	-

	16
	In the subframe following the one scheduled in step 14 the SS assigns 7 UL grants of size 848 bits (UL Grant Allocation type 2) with a time spacing of 20 ms. (Note 1)
	<--
	(UL grants, 848 bits)
	-
	-

	17
	The UE transmits RLC SDU#4.
	-->
	(RLC SDU#4)
	-
	-

	18
	The UE transmits RLC SDU#5.
	-->
	(RLC SDU#5)
	-
	-

	19
	The UE transmits RLC SDU#6.
	-->
	(RLC SDU#6)
	-
	-

	20
	The UE transmits RLC SDU#7.
	-->
	(RLC SDU#7)
	-
	-

	21
	The UE transmits RLC SDU#8.
	-->
	(RLC SDU#8)
	-
	-

	22
	The UE transmits RLC SDU#9.
	-->
	(RLC SDU#9)
	-
	-

	23
	The UE transmits RLC SDU#10.
	-->
	(RLC SDU#10)
	-
	-

	24
	The SS transmits a STATUS PDU.
	<--
	STATUS PDU
	-
	-

	25
	The SS transmits an AMD PDU to the UE.
	<--
	AMD PDU#11 (SN=X+10, P=0) 
	-
	-

	26
	The SS starts the UL default grant transmission.
	-
	-
	-
	-

	27
	The UE transmits an AMD PDU with the same data as received in the corresponding DL AMD PDU.  Record time TD.
	-->
	AMD PDU#11 (SN=X+10, P=1) 
	-
	-

	28
	Check 1: Does the UE set the poll bit as both the transmission and retransmission buffers become empty? Record time TE.
Check 2: Is (TE  – TD ) = t-PollRetransmit?
	-->
	AMD PDU#11 (SN=X+10, P=1) 
	1
	P

	29
	The SS transmits a STATUS PDU
	<--
	STATUS PDU
	-
	-

	Note 1:
UL grant of 848 bits (LRBs & IMCS as per 38.523-3[3] annex B) is chosen to allow the UE to transmit one PDU at a time.

Note 2:
UL grant of 80 bits (LRBs & IMCS as per 38.523-3[3] annex B) is chosen to allow the UE to transmit a Status Report with ACK_SN(3 byte) + 2 byte MAC PDU subheader and (2 byte short BSR). 3 Bytes additional space provided to confirm UE does not include NACK_SN and conformant UE instead will include MAC Padding.

Note 3:
Every DL AMD PDU contains 1 RLC SDU size of 99 bytes.


7.1.2.3.8.3.3
Specific message contents

None
